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QUESTION 1

Your company wants to sell its marketing research data to its strategic partners. All strategic partners currently have a
Multipoint GRE VPN setup to your hub remote access routers, and are running a separate OSPF process over the
Multipoint GRE VPN with you. Your internal IGP is also OSPF, and the internal application used to access the marketing
research data is located within your company\\'s data center. Which solution ensures the strategic partners are provided
with only the access they need, and that both organization\\'s routing designs are not negatively affected? 

A. Redistribute and tag only internal routes from the strategic partner\\'s OSPF to your internal OSPF and send them
only your data center routes. The tagged routes are not advertised to your local SP for internet connectivity. 

B. Redistribute and tag all routes from the strategic partner\\'s OSPF to your internal OSPF and send them only your
data center routes. The tagged routes are advertised to your local SP for Internet connectivity. 

C. Redistribute and tag only internal routes from the strategic partner\\'s OSPF to your internal OSPF and send them all
your organization\\'s routes. The tagged routes are advertised to your local SP for Internet connectivity. 

D. Redistribute and tag all routes from the strategic partner\\'s OSPF to your internal OSPF and send them a default
route. The tagged routes are not advertised to your local SP for Internet connectivity. 

Correct Answer: C 
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QUESTION 2

Refer to the exhibit. 

You are designing an IPv4 unicast Layer 3 VPN load-balancing solution. Which L3VPN feature needs to be configured
on the PE routers to support the design requirement? 

A. nonmatching route distinguishers 

B. matching route target values 

C. disable split horizon on PE2 and PE3 

D. matching route distinguishers 

Correct Answer: A 
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QUESTION 3

A company is planning to deploy high-availability cluster support for their servers in a collapsed core data center design.
Which issue should be a concern with this design? 

A. NIC teaming 

B. MAC address aging 

C. Layer 3 domain sizing 

D. Layer 2 domain sizing 

Correct Answer: D 

 

 

QUESTION 4

Which two actions can the sinkhole technique be used to perform? (Choose two.) 

A. delay an attack from reaching its target 

B. redirect an attack away from its target 

C. monitor attack noise, scans, and other activity 

D. reverse the direction of an attack 

Correct Answer: BC 

 

QUESTION 5

The Service Provider you work for wants to deploy CoS functionality on the P routers of the MPLS core, to provide a
complete CoS solution to all customers that purchase services such as dedicated Internet access, MPLS Layer 3 VPN,
and Layer 2 VPN (pseudowire). 

The design requirements are: 

The network supports four service queues with equal treatment for delay, jitter, and packet loss. 

Queues are numbered 0-3, where 0 is the default queue. 

Three queues have one treatment, whereas the other queue has either one or two treatments. 

The Service Provider manages control traffic, whereas the customers manage business critical and best effort. 

Which two statements could you recommend to allow for the appropriate level of bandwidth allocation? (Choose two.) 

A. Control plane 10%, Real Time 30%, Business Critical 40%, Best Effort 20% 
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B. Control plane 80%. Real Time 10%, Business Critical 5%, Best Effort 5% 

C. Control plane 90%, Real Time 5%, Business Critical 5%, Best Effort 0% 

D. Control plane 20%, Real Time 40%, Business Critical 30%, Best Effort 10% 

Correct Answer: AD 
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